

# Apartment in St Paul's Bay



St Paul's Bay, North



**€319,000**

Reference No: 240491021-184

 Total Rooms: 6

 Floor Area (m<sup>2</sup>) : 96

 Bathrooms: 2

 Bedrooms: 3

# Apartment - For Sale - St Paul's Bay

ST. PAUL'S BAY - APARTMENT - Consists of an open plan Kitchen/Living/Dining, 3 Bedrooms (main with En-suite), main Bathroom and 2 balconies. The property is being sold finished excluding doors and bathrooms. Freehold. Contact the agent for more details.

## Features

- ✓ Ceramic Floor
- ✓ En Suite
- ✓ Balcony

## Rooms

- ✓ Kitchen/Living/Dining : 7.97 x 5.04 m (40.17 m<sup>2</sup>)
- ✓ Bathroom : 1.77 x 2.66 m (4.71 m<sup>2</sup>)
- ✓ Double Bedroom : 3.41 x 3.65 m (12.45 m<sup>2</sup>)
- ✓ Double Bedroom : 4.08 x 3.58 m (14.61 m<sup>2</sup>)
- ✓ Double Bedroom : 4.29 x 3.55 m (15.23 m<sup>2</sup>)
- ✓ Bathroom Ensuite : 2.18 x 1.7 m (3.71 m<sup>2</sup>)
- ✓ Open Space : 3.65 x 1.5 m (5.47 m<sup>2</sup>)

# Gallery





**Mandy Attard D'Emanuele**

RE/MAX Partners - Fleur De Lys

M: 99301866

E: mdemanuele@remax.com.mt

T: 99467221

**RE/MAX Partners - Fleur De Lys**

242, , Triq Fleur De Lys, Fleur De Lys, Malta